




















arcserve

BA.

4-Post Rack Installation with Standard Rails

Locate the mounting hardware and rack rail assemblies shown below

Step 1

Locate the two adjustable standard
rack rail assemblies.

® Insert the tabs on the front section of the
adjustable rack rail assembly through the
openings in the rear sections of the
assemblies.

m Check to make sure the adjustable rack rail
assemblies are connected correctly, then
slide the front section forward and the rear
section back to keep them from coming
apart. These assemblies adjust to
accommodate different rack depths.

Step 2

® |nsert @ cage nut into each of the square
holes in the rack you will be using as
shown (three in the front and two in
the rear). They click into place.

® Attach the rack /rail assemblies to the
rack using two M5 x 12 flat head screws
cone washers in the front and back. The
convex side of the cone washers face toward
the rack.

® Make sure the rack / rail assemblies and
screws are aligned in the rack not only in
the front and back, but are level in height
on the left and right sides for proper
alignment for appliance installation.

N )
N )

N

Q

Vv

N ]
SN/

‘]/ 3
\Adjustable rack rail assemblies

GGGOOD

J - 7
A v'e’u"g %
SN e

B

fOooooooo

NOTE: The installation procedures
for Sections 6A and 6B, 4-Post
Rack, below and on page 9 are for
use with the rails and hardware
provided in your ship kit. If different
style rails are being used, or if your
rack requires different hardware,
refer to the instructions provided
with your rail’s or rack’s ship kit.

Rear section of
the adjustable

. rack rail assembly
Front section of

the adjustable
rack rail assembly

)
[=l=N=N=N=N)
/17 \

=R=N=N=]5]

Assured recovery

Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 8



arcserve

6B. 4-Post Rack Installation with Quick Mount Rails (square hole rack only)
Locate the quick mount rack rail assemblies shown below

Step 1

Locate the two adjustable quick-mount
rack rail assemblies.

= Insert the tabs on the front section of the
adjustable rack rail assembly through the
openings in the rear sections of the assemblies.

= Check to make sure the adjustable rack rail
assemblies are connected correctly, then slide
the front section forward and the rear section . -
back to keep them from coming apart. These [
assemblies adjust to accommodate different
rack depths.

Step 2

= Quick-mount rail Installation in the
square hole rack:

A. Insert the quick-mount rail tabs E
on the front of the rack rail { ] ll*-:%" y
assembly through the selected

set of square holes in the rack.

NOTE: There is a threaded hole between the
two quick-mount tabs in the rail assembly.
This hole will be used to secure the appliance
in the rack later in this guide.

B. Push the tabs into the holes in the rack
until you hear the locking mechanism
on the rail assembly click into place.
The locking mechanism secures the rails
to the rack.

C. Slide the rail assembly to the back of
the rack.

D. In the rear, insert the quick-mount rail tabs
through the square holes level with the front
installation.

E. Push the tabs into the holes until you hear
the rear locking mechanism click into place.

= Repeat these steps for the other side of the rack.*

Rack bracket tab \

P \ Rack bracket tabs
< \\

a2

Rear section of
the adjustable
rack rail assembly

Pl ¢ Front section of
the adjustable
rack rail assembly

|—Adjustable quick-mount

rack rail assembhes—l
- u =
// oy

Quick-mount
rail tabs
(angle view)

Quick-mount
rail tabs
(side view)

Quick-mount rail
locking mechanism

B

Quick-mount
IockirwgY
mechanism

* NOTE: Make sure the quick-mount rail assemblies are aligned in the rack
not only in the front and back, but are level in height on the left and right
sides for proper alignment for appliance installation.

Assured recovery

Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 9



arcserve

7. Installing the Appliance in the 4-Post Rack

= Align the inner fixed chassis rails on the appliance with the fixed chassis rack rail assemblies previously installed
in the rack.

= Carefully slide the appliance into the rack rails until you hear the locking tabs on the chassis rails click into place.
= Push the appliance all the way into the rack until it stops.
= Secure the unit in the rack by inserting and tightening two 10-32 x 3/4” Phillips pan head screws®, one on each side.

|—Adjustable rack rail assemblies

(standard or quick-mount)
|

G000 )

ot

- < :

\ Locking tab NOTE: When removing the appliance

[T[TTF)

from your rack, you will need to press

Two 10-32 x 3/4" = Fixed chassis rail X .
Phillips flat-head screvvs"—l i 4 J (attached prior to shipment) down on the locking tab in order to
release it from the rack. Carefully slide
Od it out supporting the unit on both sides
at all times.

ASsured recovery Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 10



arcserve

8. Unpacking the 2-Post Rack Installation Hardware

Verify that the ship kit includes the following installation hardware

Installation Hardware
= Two power cords”

m A set of 2-post rack mounting hardware**

. ([ (IR -

(Eight) M5 x 12 (Twenty-two) M4 x 4 (Two) 10-32 x 3/4”
Phillips flat head screws Phillips truss head screws Phillips pan head screws
(used to secure the appliance in the rack)

m Two pairs of 2-post rack mounting brackets
‘(\\ Fixed 2—pis(f (r):gll brackets \
_°

Inside front view Outside front view

m One pair of 2-post rack mounting brackets with threaded holes

2 (Two)

Fixed 2-post rack brackets
% with threaded holes

’: J

Inside front view Outside front view

m One pair of 2-post rack assemblies that attach directly to the rack

2-post rack rail assembly, inside view

|

NOTE: Use the hardware
supplied with your specific
rack if different from the
hardware supplied in this kit.

. NOTE: Only two power cords

will be included in your ship
kit even if you receive
multiple rail kits.

**NOTE: There may be

additional mounting hardware
included that will not be

used with this installation
assembly kit.

]

7
0 e o
0!

P

2-post rack rail assembly, outside view

Assured recovery

Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 11



arcserve

9. 2-Post Rack Installation
Unpack the appliance and locate the mounting hardware

Step 1

Locate the two long and six short rack
brackets that came in your ship kit.

A.

Securely attach the set of short brackets
with the threaded screw holes to the long
bracket in the front as shown. Use two
M4 truss head screws for each bracket.

. Loosely attach one set of the other short

brackets to the long fixed bracket as
shown using one M4 truss head screw on
each bracket. The three holes on the flap
will face toward the back for later
attachment to the 2-post rack.

. Loosely attach the remaining set of short

brackets to the long fixed bracket as
shown using one M4 truss head screw on
each bracket. The three holes on the flap
will face toward the front for later
attachment to the 2-post rack.

Step 2

Attach the assembled brackets to the
2-post rack.

A.

Insert two M5 x 12 flat head screws through

the short brackets into the 2-post rack

(in the front and back of the rack as shown)

and tighten. Make sure the brackets are

aligned and level in height, not only in the

front and back but also on the left and
right sides.

. Tighten each of the single screws on the
small fixed brackets (located on either side

of the rack) to secure the brackets in the
rack and ensure appliance stability.

rack brackets with
threaded holes

> \‘yooooo/

©oooo000C

Koooooooc

700000/
\0oo

CRx4

©ooooodgc

HoooooooL >

Small fixed

__—Small fixed
rack brackets

Two M4 truss head screws

"L,ﬁ

‘i _.»—M5 x 12 flat head screws”

~ A (two front and two rear)

9 )

Q)
Q.
9

080,

NOTE: The installation procedures
for Section 9, 2-Post Rack, below
and on page 9 are for use with the
rails and hardware provided in your
ship kit. If different style rails are
being used, or if your rack requires
different hardware, refer to the
instructions provided with your rail’s
or rack’s ship kit.

Long bracket —‘

Small fixed
rack brackets

One M4 truss
head screw

NOTE: Once the assembled rails
are attached to the rack, securely
tighten the single screws on steps
Band C.

-PA
— .
[} O ||
o | |o =
o | o[k
o [|o [9.F
S
Q)|
@E S
ol ‘,i\ g
file
. o
e 1118
o
[ o o
o
l o | [°
9
ﬂv/ﬂJ
b
— ”
S o
9 o
o 19,
5 ;
28
/>\’
o B
o
o
o
o
0
o
~J

Assured recovery

Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 12



arcserve

10. Installing the Appliance in the 2-Post Rack

= Align the inner fixed chassis rails on the appliance with the fixed chassis rack rail assemblies previously installed
in the rack.

= Carefully slide the appliance into the rack rails until you hear the locking tabs on the chassis rails click into place.
= Push the appliance all the way into the rack until it stops.
= Secure the unit in the rack by inserting and tightening two 10-32 x 3/4” Phillips pan head screws, one on each side.

H 0000000 (00O oooo/

o
Locking tab /\J
“Two 10-32 x 3/4" W !‘_‘ﬁ \Fixed chassis rail NOTE: When removing the appliance
Phillips flat-head screws‘—l - | (attached prior to shipment) from your rack, you will need to press
down on the locking tab in order to

release it from the rack. Carefully slide
it out supporting the unit on both sides
at all times.

ASsured recovery Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 13






arcserve

11.  Rear Panel Connections (continued)

-

== [ >

= - s - = -

I

I

I

I

v

ioio:
O

Step 1 Connect the power cord.

Step 2 Connect the Ethernet cables. & CAUTION
Proceed to Section 12, Front Panel Operation The power supply is hot—swa.ppa_ble only when you have a server
16 with redundant power supplies installed. If you only have one
on page ' power supply installed, before removing or replacing the power
supply, you must first take the server out of service, turn off all

Power Supply Status LED peripheral devices connected to the server, turn off the server by
X X X pressing the power button, and unplug the AC power cord from

There is a single bi-color Power Good LED on each e SEREr 6 walll QUL

power supply module to indicate power supply status.

The LED operation is defined in the table below NOTE: The server offers redundant, hot-swap capability. The

connections to AC mains should be made in a manner appropriate
to local code and consistent with customer power distribution
with or without redundant sources.

Power Supply Condition LED State

Output ON and OK GREEN
No AC power to both power supplies OFF
AC present / Only 5VSB on (PS off) AMBER
AC cord unplugged or AC power lost; with a second

; S . OFF
power supply in parallel still with AC input power
Power supply warning events where the power linki
supply continues to operate; high temp, high power, | 1z Blinking
high current, slow fan AMBER
Power supply critical event causing a shutdown; AMBER

failure, OCP, OVP, fan fail

In normal operation the Power Good LED on Power Supply Module
1 and Module 2 will be SOLID GREEN. If the power is down, both
LEDs will BLINK GREEN.

ASsured recovery Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 15



arcserve

12.  Front Panel Operation

arcserve L

Power on the appliance

® Remove the front bezel (if installed Unit ID Button
on the appliance) by pressing in on
the left side of the bezel to release it

from the appliance. Multi-function LED NIC2 LED HDD LED Reset Button

0 O NICTLED  Power LED 1/0 P
® Press the power button located on Blue LED Red LED Butit:)gr:er
. . Syst identificati Systs lert
the far right on the front side of the P dicator " indicstor

appliance.

= Once the system has been powered
on, replace the bezel.

13.  Run Arcserve UDP Appliance Wizard

> 1.When power is initially applied to the appliance, the Arcserve UDP Appliance Wizard is launched. Navigate
through each page of the wizard. For more information about the wizard, see the Arcserve UDP Appliance
User Guide (arcserve.com/udp-appliance-userguide) or view the video at:
arcserve.com/udp-appliance-wizard-video.

Note: After selecting the Operating System language, a screen to enter Windows license may come up.
Skip to proceed here, the OS is already licensed and activated.

The wizard lets you perform the following tasks:

= Define the Appliance host name.

m Specify LAN connections for the Appliance.

= Configure email and alert settings.

m Create protection plans. A protection plan lets you define source nodes, backup destination,
and configure a backup schedule.

Upon completion of the wizard, Arcserve UDP launches the UDP console at the dashboard page.

ASsured recovery Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 16



arcserve

14. Access Arcserve UDP

>» Arcserve UDP is a comprehensive solution to protect complex IT environments. The source-side and global
deduplication solution protects your data residing in various types of nodes such as Windows, Linux,
and virtual machines on VMware ESX servers or Microsoft Hyper-V servers. You can back up data to either
a local machine or a recovery point server. A recovery point server is a central server where backups from
multiple sources are stored and can be globally deduplicated. For more information about Arcserve UDP,
see the Knowledge Center at: arcserve.com/udp-knowledge-center.

Arcserve UDP provides the following capabilities:

= Back up the data to deduplication/non-deduplication data stores on recovery point servers

= Back up recovery points to tape

= Create virtual standby machines from backup data

= Replicate backup data to recovery point servers and remote recovery point servers

= Restore backup data and perform Bare Metal Recovery (BMR)

= Copy selected data backup files to a secondary backup location

= Configure and manage Arcserve High Availability (HA) for critical servers in your environment

15.  Contact Support
If you encounter any issues with your appliance, please visit our Arcserve Support site to search our Knowledge

Base for solutions to common problems or to get Live Support for immediate assistance (the serial number is
located on rear of appliance) at: arcserve.com/support.

16.  Warranty

Each Arcserve UDP 8000 series appliance comes with a 3-year hardware warranty. For detailed information
about this warranty, please visit: arcserve.com/udp-appliance-warranty.

ASsured recovery Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 17



arcserve

For more information on Arcserve, please visit arcserve.com, or call +1.844.639.6792

Copyright © 2016 Arcserve (USA), LLC and its affiliates and subsidiaries. All rights reserved. All trademarks, trade names, service marks and logos referenced herein belong to their
respective owners. This document is for your informational purposes only. Arcserve assumes no responsibility for the accuracy or completeness of the information. To the extent
permitted by applicable law, Arcserve provides this document “as is” without warranty of any kind, including, without limitation, any implied warranties of merchantability, fitness for
a particular purpose, or non-infringement. In no event will Arcserve be liable for any loss or damage, direct or indirect, from the use of this document, including, without limitation,
lost profits, business interruption, goodwill or lost data, even if Arcserve is expressly advised in advance of the possibility of such damage.

(LR
P/N: REV: 0A

509-0301-00

Arcserve UDP 8100 and UDP 8200 Appliance Hardware Installation Guide | 18



	8000_Page 1
	8000_Page 2
	8000_Page 3
	8000_Page 4
	8000_Page 5
	8000_Page 6
	8000_Page 7
	8000_Page 8
	8000_Page 9
	8000_Page 10
	8000_Page 11
	8000_Page 12
	8000_Page 13
	8000_Page 14
	8000_Page 15
	8000_Page 16

